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For a single step reaction
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Rate determining steps
-

If one step is very slow ,
sets apparent reaction mechanism
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Steady state Approx helps sohes

merry rate problems
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Also true for a set of
reversible reactions at eq .
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Rate law -13 mechanism
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Alternative , Meek
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Lindemann Mechanism

÷pwionly that
must have enough energy to
overcome activation barrier
- in gasses, canes fan direct

collision

Actheatres barrier can be quite high
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At high conc :
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Need a collision toget enough

energy to react



Lindemann proposed activatedstate
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from collision w/ Molecule M
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At high concentration M,
often deactivated &
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Catalysts
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Important - different reaction

paths !
Homogeneous catalysis -

in solution mixed in

Heterogeneous catalysis (different

Eg metal surface
phase)

catalyst takes place in reaction
but is not used ye



Eg At B → C TD

At M → X

X tis → at Dtm

Enzymes are biological catalysts
Greatly accelerate reactions
and can be very specific & stereosecede


